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Annual result

5180

1. If solvent borne spot cleaners are used, enter either 10kg if using Perc or 6.5kg if using other solvent, or the total weight of the solvent content used, as advised by your Supplier in the 'Annual Spot Cleaning Factor  

Estimated still residue

(Use this to check the total for each 
method of still cleaning against your 

waste collection notes, adjust the final 
months figure as necessary to 

correspond)a b

Eynesbury Dry Cleaners

Month and Year

Monthly weight of work processed Monthly weight of solvent used Monthly solvent emitted per kg 
of work processed

(kg)

Feb 2012 972 0.00

(litres)

Jan 2012 702 12.80

(kg)

Apr 2012 990 0.00

March 2012 938 12.80

June 2012 972 0.00

May 2012 1134 25.60

Aug 2012 666 0.00

July 2012 936 13.20 25.0

Oct 2012 972 19.20

Sept 2012 558 12.80

75.0

Dec 2012 684 19.20

Nov 2012 720 -12.00 50.0

n = Total b

Annual Spot Cleaning Correction 
Factor (see Note 1): Total annual weight of solvent used

Annual totals 10244 103.60

Annual total of solvent 
emitted per kg of work 

processed

m p q
= Total b + m = p × 1000 ÷ n

Weight of work required to comply 
with regulations (kg): Complies with Regulations? YES

(kg) (kg) (g/kg)

103.60 10.11


	Annual (Single Machine)

